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I. In the diagram below, p* = (p, %) denotes the price vector of good 1 and good 2 at time ¢, and g, and g, are the quantities
of the two goods. The weak axiom of revealed preference (WARP) states that “If a commodity bundle, say bundle 1, is directly
revealed preferred to bundle 2, and the two bundles are not the same, then it cannot happen that bundle 2 is directly preferred to
bundle 1.” Based on this definition, check if WARP is violated when the observed bundle at time 0 and time 1 are: (1) A& B; Q) A
& C;and (3) B & D. (12%)
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2. The classical measures of welfare change are based on either compensating variation {CV) or equivalent variation (EV). Consider
the case of a fwo-good world in which a rational consumer experiences an increase in the price of good 1. Define CV and EV and
graphically illustrate that consumer’s surplus measured from compensated demand under the notion of CV (EV) sets the upper

(Jower) bound for the change in welfare due to this price variation. (14%)

3. Suppose that in addition to labor input, the firm uses capital input, K;(i = 1,2,3), to produce three output levels, ¢;(i = 1,2,3),
in the long run.

(1) Use the isoquant map to illustrate that when the firm’s capital input is fixed at Kj, even if the firm is minimizing cost, the cost
to produce each of the three output levels are usually higher than the minimal cost to produce those output levels, i.e., SC(qizz ) >
C(q0)- (12%)

(2) Graphically illustrate that in the long run, a cost-minimizing firm’s employment of labor is more responsive to the change in

wage rate when the rational firm pursues profit maximization. (12%)
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